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2024 - 2025 Certificate Map
Speech-Language Pathology Assistant

 School/College: College of Health Solutions

Location: Tempe

Program Requirements

The certificate program includes 15 credit hours of coursework and a clinical internship completed in

conjunction with the bachelor's degree in speech and hearing science.

Twelve of the 15 credit hours for the certificate must be completed at ASU. A minimum grade of "B-"

(2.70 on a 4.00 scale) is required for each course.

Required Courses -- 15 credit hours

SHS 402: Clinical Methods and Treatment of Communication Disorders (3)

SHS 470: Developmental Speech and Language Disorders or SHS 485: Acquired Speech and

 or  Language Disorders SHS 565: Speech and Language Acquisition (3)

SHS 473: Implementation of Treatment Plans for Individuals with Communication Disorders (3)

Notes: SHS 473 only offered in fall.

SHS 483: Professional Issues and Ethical Considerations for the SLPA (3)

Notes: SHS 483 only offered in spring.

SHS 484: SLPA Certificate (3)

Prerequisite courses may be needed in order to complete the requirements of this certificate.

SHS 402 should be completed prior to the SHS 484: SLPA Certificate internship course. SHS 484:

SLPA Certificate internship course should be completed in the final semester.

https://chs.asu.edu
https://catalog.apps.asu.edu/catalog/courses/courselist?subject=SHS&catalogNbr=402&honors=F
https://catalog.apps.asu.edu/catalog/courses/courselist?subject=SHS&catalogNbr=470&honors=F
https://catalog.apps.asu.edu/catalog/courses/courselist?subject=SHS&catalogNbr=485&honors=F
https://catalog.apps.asu.edu/catalog/courses/courselist?subject=SHS&catalogNbr=485&honors=F
https://catalog.apps.asu.edu/catalog/courses/courselist?subject=SHS&catalogNbr=565&honors=F
https://catalog.apps.asu.edu/catalog/courses/courselist?subject=SHS&catalogNbr=473&honors=F
https://catalog.apps.asu.edu/catalog/courses/courselist?subject=SHS&catalogNbr=483&honors=F
https://catalog.apps.asu.edu/catalog/courses/courselist?subject=SHS&catalogNbr=484&honors=F

